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General Instructions :

(i) Al guestions are compulsory.

(ii) Question number 1 = 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

(iii) Question number 6 — 10 are of twe marks each. The answers fo these questions

should not exceed 40 words each.
i

(iv) Question number 11 — 16 are of four marks each, The answers 1o these questions

should not exceed 100 words each.

(v) Question number 17 — 21 are of five marks each. The answers 10 these questions

should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in YOour answer-

book.

(vii) Question number 22 — 27 are of six marks each. The answers 1o these questions !
should not exceed 150 words each.

1. ower g S el T o sl w5 T Y 1

Why was the Warsaw Pact also called the “Eastern Alliance’ ?

9. ‘aimiwe gl wiew w ai ? 1

What was ‘Operation Enduring Freedom’ ?

3, YET AR § W SIEUie T F6 §E T 7 1

Why were the seven small states created in North-East India ?
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1971 % TGt H g it @t s fer & o @i T e SR ST a1 2

Which major factor was responsible for the dramatic victory of Indira Gandhi in 1971

elections 7

o & gl el Te % o A ve gl g & 9 fefEy |

Name the three social and political regions of the Northern most State of India.

e g 3 wieger ot ey e e feear 2

How did the Sino-Indian conflict affect the opposition also 7

et A S e O T e f e s o i s S $ o

e W ?

How did the dominance of Congress Party in the first three general elections help in

establishing a democratic set-up in India ?

g frage 9% | A Sfur § 7

What is meant by the Cuba Missile Crisis ?

eI T W T R S @ 7 o ufed e o favemr it 0

“Welfare State is getting replaced by market.” Analyse the reason for this change.

59/1/2 3 [P.T.0.



11.

12.

13.

14,

15.

16.
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VPR ERT 9GH01 i [ T vatawor H qur & forw w5 2 39 e | 2xl=2

Suggest any two steps to be taken by the government to check pollution and save

environment.

Hee =it fdwn ife & et <1 sttt aviw @i 2x2=4

Describe any two major objectives of Nehru's foreign policy.

1989 o UFE, A H SEEEATT A0 & T H F0F FRTT | 4

Describe the era of multi-party system in India after 1989,

Tt W % anfas S A v 9t swen i | 2+2=4

Explain the economic and military influence of the European Union.

WAT F WG 9RA % T oy R % #i @ o ot @ 0w X 2 @ dew
T 1 Faof fomm st =it 2 2+2=4

Which two models of modern development were there before India on the eve of
independence ? Which model did India decide to choose and why ?

feret snater % foreell =t wemraees et = e iR | 2x2=4

Assess any two positive aspects of the Chipko Movement.

HYH W F oW W wwen ¥ e e e sumt & fearaa § o @ st w
AT Yeais S | 4

Critically evaluate the difficulties involved in implementing the suggested reforms to
reconstruct the U.N.



1.

18.
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9 Few T SRy &) e e st fefafe vl & e i 1+4242=5
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Gy sRER § v Saee e e ¥ fae e weeie T e T TR S
U %I T B |

(iiiy Pl v g e v farEmame # SR W ST |

Read carefully the passage given below and answer the following questions :

The Coid War was not simply a matter of power rivalries, military alliances and of

balance of power. These were accompanied by a real ideological conflict as well, a

difference over the best and most appropriate way of organizing political, economic,

and social life all over the world.

(i) Why is a war-like situation called Cold War ? _

(i) Identify one military pact each signed by each of the two super powers to
balance the power rivalries.

(iii) Differentiate between the ideologies represented by the rival blocs.

i T TR S eagEe Ty $i Frafafed Tt & e Al 1+2+2=5
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Read the passage given below carefully and answer the following questions :

The interim governimnent took a firm stance against the possible division of India into
smaller principalities of different sizes. The Muslim League opposed the Indian
National Congress and took the view that the States should be free to adopt any
course they liked. Sardar Patel, India’s Deputy Prime Minister and the Home Minister
during the crucial period, immediately after Independence, played a historic role in
negotiating with the rulers of Princely States in bringing most of them into the Indian
Union.

(i) Which government has been referred to as the interim government 7

(i) Why did the Muslim League oppose the Indian National Congress ?

(iii) What makes the role of Sardar Patel a historic one 7 Explain.

19. m@mﬁ@ﬁ@*ﬁ&@?ﬁﬂmm%wm 1+24+2=5
#ﬁﬂﬁ%mﬁﬁmm?ﬁwkawaﬁm-mﬁfwwqﬂ,@ \
SriET HT UF GEEE AR 97 | HEread ¥ O S T TS SEE TR
ar | e i 3 P P e % e T Wi wdw § e | w
w,ﬁﬁwmwmﬁ*ﬁﬁwﬁ’ ¥ Wag R ¥ e g
o |
@) R i W T e w2
(ii) el 7 3 R Py et gy Sar e R o R S T |
(iii) Pl oA W TENERET FE FE O AR € ?
Read carefully the passage given below and answer the following questions :

The New Congress had something that its big opponents lacked — it had an issue, an
agenda and a positive slogan. The Grand Alliance did not have a coherent political
programme. Indira Gandhi said that the opposition alliance had only one common
programme ‘Indira Hatao’. In contrast to this, she put forward a positive programme
captured in the famous slogan *Garibi Hatao’. :
(i) Which Congress is being referred to as ‘the New Congress’ 7

(i) Highlight any two steps taken by Indira Gandhi to remove poverty.

(iii) How far is it justified to call the ‘opposition alliance’ as the ‘Grand Alliance’ ?
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(1)
(11)
(111)

(iii)

Al :
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7z dfere A ®i ¥ 3w i wiaffoe s d e

A 9t 351 o T AW % A ) e o E 0

g HEA FATIL T il 97 HL9 A E 2

Study the cartoon given above and answer the following questions :
(1)
(i1)

Which country is represented by this mighty soldier 7

Why have the names of so many countries been written on the uniform of the
soldier 7

What message does this cartoon convey to the international community 7

g U Saw gread sienfed F e ien 20 SR W E | 2+414+2=5
et vl & 9o SifeTT -

20.1. TH T A F AN H UG UL 1 FT GRS 47 7

20.2. gE T SEE A T UL HHHOT 4T ;T 7

20.3, = UL AT AT SN ST o SEET 97 2
7 [P.T.O.
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Note : This question is for the visvally impaired-candidates in lieu of Q. No. 20.

Answer the following questions :

20.1 What was the stand taken by the United Nations on the Iraq invasion 7
20.2  Why did the U.S.A. attack on Iraq ?

20.3 How far is the invasion on Iraq justified ?

awa % e e v vt |, 9 ot @t @), B), ©), @) v (B) g s
TN E | HE T ST % AR W S UeHIT 6O 3 WE AW, WA S TS AESR
I T T o e R H F 3¢ g | fefa | 5x1=5"
(i) aﬁmamﬁ%%mmﬁunaﬁrwﬁmﬁﬁrﬁwmm|
(i) TE T W 0.0, TR 3§ e - SR g |

(ili) =& T+ & Harg W E H T (1952-54), TH S76Hs head wa 4 |

(iv) 1965-67 % e Haias e @S9 9 3o Je 199 |

(v) =aft gewrl @iEieH % Ay | 39 H o it o A 1 |
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In the outline political map of India given above, five States have been marked as
@), ®), ©, (D and (B). With the help of the information given below, identify
them and write their correct names in your answer book along with the serial number
of the information used and the related alphabet in the map.

(i) The State to which C. Rajagopalachari, the first Indian Governor-General of
India, belonged.

(ii) The State where the first non-Congress Government was formed by E.M.S.
Namboodiripad.

(iii) The State to which Rafi Ahmed Kidwai, the Union Minister for Food and
Agriculture (1952-54) belonged.

(iv) The State which faced the most acute food crisis in 1965-1967.

(v) The State which led the country to White Revolution through Dairy
Cooperative Movement.

e : % Vv e il % fe e S 21 F wE W E 1+42+2=5
Pifiaa vl % S0t s
21.1. T ¥ GG ARA W gl ® e e 6o
21,2, T TG ST S S AT S e v fedte F g e 0
213, 08 R Ut & 1 fofan o et sRH AT 4 |

Note : The following question is for visually impaired candidates in lieu of Q. No. 21.

Answer the following questions !

21.1 How many Princely States were there in India at the time of
- independence ?

212 When was the State Reorganisation Commission appointed and what
was its major recommendation ?

21.3 Name the four States which were earlier a part of Assam State.

Frga Tt T e e % T Seerd et e s @ giiee s | Ix2=6
FHoqa

R % SRR & WY GERIES a9 AERES Syl H SEe i | 3+3=6

Examine any three factors responsible for the US hegemony in the world politics.
OR

Assess the positive and negative aspects of India’s relations with Bangladesh.
9 [P.T.O.
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23.

vige ¥ e wemifEE g 21 3 % Ty 9 Ted v & Rt de el & avE

FITT | Ix2=6
et

wiferae v § GUR w77 &, T @ gt T e gyl IR, WO e

1 T BT | 3+3=6

Describe any three reasons for the superpowers to have military alliances with
smaller countries during the Cold War period.

OR

Describe the role of Gorbachev to reform the Soviet System and the effects of these
reforms on the U.S.5.R.

e & i S Fo I At % fore e < me @ ST R 1 24 4=6
anaar
e fove T AvEieAoT & YRR WE S e S | 6"
Define the ‘Indigenous People’ and highlight any two threats to their survival.
OR
Explain the positive impacts cf globalization on the present day world.

1975 % s § 9ie et d ot o faveyor St | Ix2=6
Fegan _

1970 & wrifers st &, S il 3 WHER FF FHhET aBE A e A rE eRe

forveaor =ifew | Ix2=6

Analyse any three lessons learnt from the emergency of 1975.
OR

Analyse any three major factors which led the popularity of Indira Gandhi's
Government in the early 1970s.
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26, g dREE B TE FEEA & AT 1997 & % gy e Fel @ AEEvEl ® v i

6x1=6
v
wﬁwaﬁ?ﬁm%?mﬁwﬂﬁﬂrﬁ%%ﬂnmmmm i
2+4=6

Describe any six criteria for the new membership of Security Council as suggested
after 1997.

OR

What is meant by Security ? Mention any four components of Indian security
strategy.

27. T AT AT B e O W A € | e sfemf 3 o @ RewEl @
ST F T A Wi T O W F E | W & AN R, AT T Gt A TR e
FH 9 a7 Tt & e H IO a6 AT | 3x2=6

)

2014 & s gt # Anit 3 #% F for weR & v § wee | &g e &
TR ) ERRT 1 I B T 7 A I W A IR s Qi | 6

Suppose you are an important leader of the Farmers’ agitation. The government
authorities ask you to present any three demands on behalf of the farmers. On priority
basis, which three demands will you make ? Support your demands with appropriate

arguments.
OR

r

In 2014 elections, people havé voted for a stable government at the Centre. Do you
think that the era of coalition has ended ? Support your answer with suitable

arguments.
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